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Instructions

1. ’_ Answer all questions.
2.
3

All questions carry equal marks

. - In this booklet, the questions from

10.

11.

,Carrymg Mobile phone

serial no. 1 to serial no. 10 are related
to general awareness while questions
from serial no. 11 to serial no. 70 are
sub_)ect specific.

Each question has four alternatlves

marked as (A), (B), (C), (D).

Choose only one alternative. as an
answer of a question.

If more than one answer is marked
then it will be treated as wrong

.answer.
Candidate has to darken only one circle

indicating the correct answer on the

OMR sheet by using BLUE/BLACK'

BALL POINT PEN.

There is no prov1s1on of Negatlve
arking.

in: the

examination hall is strictly proh.lblted

If any objectionable material is also
- found then action will be taken as - per
-University norms.

Please fill your Roll No. and other
information carefully on OMR sheet.
In case of any mistake on OMR sheet,

candidate will be responsible. -
If there is any difference between
English and Hindi version of questions,

. then Enghsh version shall be correct.

10,

11.
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Space for Rough Work
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.. The metal used in the Galvanizatiog
ofIroﬁis:
(A) Zinc

(B) Copper

| (é) ‘Gold

l‘(D)‘ Chromium -

Which freedom ﬁghter is popular as

Frontler Gandhl ?
(A) ngiburrahman
® _Moﬁd.“Al‘i Jinnail
N _(é) | Sé.rdar Patel
D) Khan _A_bduI égﬁ'ar Khan )
Wﬁo i’s_the current Lok Sabha
Speakér ? | | |
(A) Méer_a Kumar"
:(B) _ngitra MahaJan B
(C) Najma Heptl;lléh: |
®) Smntl Irani

2 1—Che_m,.

'?ﬁ%ﬁﬂﬁﬁwﬁmﬁmﬂ
"m”raﬁaﬁm@aﬁm%7 -

(A) 'GNHT

(B) &

"(C)u‘m

D) ﬁﬁm

.,‘mmmmrﬁeﬁ%m’_
L IR
'~(A)gsﬁa—-a-w
(B)mawﬁﬁm
(C)mq%a |
(D)@ﬁagam@ﬁ |
. aﬁmmwmaaﬁa% 2

f(A) rﬁ'u @m

(B) gﬁm‘-‘ra'm

(C) T RugE
D) v



4. - Sodium chloride is the chemical | 4. feaw FoRme fHuw ToEfE T

asmeof: [ w2

@ Quick time | | wefam
® baing el | s
© Bal;ing powder ! " | _ V(C) ﬂﬁ'ﬂm

() Table salt D) = e

5. Find the word which :ﬂolds the same 15 3 frm o 3 3 dr vra.’ m firg
| .r'eAlat‘;ion\.Nith the third word z‘ast'here‘ Wﬁ I8 W'ﬂ : ma =] ®
. is between thé first two words : .;4*2! % ) | | |
. AP.lariet ‘:v'Orl.>it Pfoigctile. 2 ? o %'&Tl . 993‘21 .2

‘ | \
(A) Trajectory

(A) 989 Uy
(B) Milky way .
(C). Satellite.
' - () W
(D) Path
: (D) 9™

4
1

| R
21-Chein. g



91-Chem.

Out of the gisfen four alternativés{%
.threek are éalﬁe’ ina cei'tair'rwsay‘eir‘id {
fofm a group. Find ‘tihe odd one that
| doeé not belong té-this-g_'_r.oup : E
(A)Yén ' _' B | /

-(B) P;)und _ :

(C) Ou_ﬁée |

(]5) Lira_.

_Co;ipleté t‘he follpwing seﬁgs -

25,49, ey 121, 169,

(C)- 100

o 64

) @

ﬁmw frredl 4 2 7 T E

o TF e T E i T @ A v
@
@ W

L@ de

© o

Cadil

25,49, ey 121, 169,

(©) 100 -

D) 64



Chposev'the' word YWhich best

~ describes the phrase ‘Magniﬁcent

and imposing in appearance, size or

. style’ ?

(A) Noble
'(B) Beautiful
VI(C).'Crud‘.e ‘

(D) Grand

Who 'Wrote the book ‘Aﬁirhal' )

| Farm’ ?

(A) _Charlgs_ Dickéns |
(B) CA)het;a.n} Bilagaf
: (C) _E_ﬁid B;yto;; |

D) George Orwell -

y A
21-Chem.

IR TR
“M‘agnifi'cent and irhpgsing in

‘appearance, size or style’ ?

(A) Noble

(B) Beautiful

(C) Crude

. (D) Grand

‘Animal Farm’ T&& &1 a@F HH
%2

(A) Chari‘es Dickens

(B) Chetan Bhagat

(C) Enid Blyton

D Géo'rge Orwell



11

10, Spot the lcbr"reci spelling
(A Comitment "
. (B) COinmitmgnt |
© comt@em‘. |
V(D) C(ﬁ)mittmmentA |
In fche su{phongtion,écefylation a.nd 11 _}asﬁq -c% ‘ o
| ﬁ»ﬁrﬁm‘iam - Hfiw‘q Sﬁagﬁ'éﬁ e |

'b formylaﬁon of ber;'zerievthe groﬁp of :

" active électrophi}es' would be : ,k

) 80, CHC=0,HCO
: e +
(B) s0,, CH,CO, HCO

. 3 . B

 (0) 803, CH3CHO, CO + HCl

(D) HSO,, CH4CO, HCO

21-Chem.’

10, W T T T wEr
 (A) Comitment

(B) | Commitment‘ ,

(C) Committment

(D) Comittmment

a_r“: ..,‘: )

() 80, CH,C=0,H00

N N

(C) SO3, CHyCHO, CO + HCl

D) HSO,, CH,CO, HCO



12.

13.

For the given compound calculate
the .value of A_,. on the basis of

max

Woodward-Fisher rule :

A) 217

(B) 234

(C) 245
D) 214
‘.C'entral Carbon atom in allene

(L0795 R RO hybridised.

13.

12. geaR-frm & fram & sqan fgd ™
- Afw & faw Ay,  TE A A

Hifo

(A 217

(B) 234

() 245

D) 214



14 »P_roduc't of the feéétibn'.is;; ..... e

S o o
. \ I ® j
‘ O—C+N02—->Product

®

SR | o |
o L/~ \
(C)'OZNO—C' O)

o Ol

21-Chem.

9




15. H — i €l
| CH,CH
Sy 2 |
-—-——>aq. KOH Product ,_

(&) Pfo_duét is l—

(B) Product is racemic mixture |
| ‘(C‘)‘ Product ‘is: d-
. (D ﬁbne is correct

1.Li

_LLi , CHG

16.

Propane
This methbd is-'
(&) Wurtz Sy;ithegis
(B) Kolb_e Synthiesis
. (C) Corey—Hoﬁ;e. Synﬁhesié

' (D)' Fr’iedel-Cfaﬂ:’s . Syntheéis
21-Chem.

10

> " 16.

'CH3CH,Cl 5 Gop”

(A) 3R T I-

(B) T i s ¥

© wR ¥ d-
D) =X q@ T

1L © , CHQC

4

Prbpane -

(4) T wéw |

B) T T

(C) ﬁ—m w@w
(D) uﬁa?fr -SRI wﬁw



17,

- 18.

 CHLON + 4(H)

Complete the following reaction :

' CHg-CH = CH-CHj + CHyN, —

Product

(A) CHg—CH—CH—CH;

| _I v

‘. (B) CH3—CH—CH—-—CH3

\/

CHy -

© Both‘ ére_ colfrect |

(D) None is correct
This reaction is known as :

Na/C H. OH

CH30H2NH2‘

(A) Mendius reduction -

- (B) Clemmenson reduction

(C) Wolf-Kishner reduction -

D) .Huang_-Minlon' reductibn

'~ 21-Chenn.

11

__17

afufrar = qof ﬁﬁrq
CH3—CH CH—CH3 + CH2N2

—

' (A) CHy—CH—CH—CH,

18

sl
. CHg N2 ‘
(B) CHy—CH-CH-CH;

CHy

© o w@ ¥ | |

) ﬁ'ﬁw‘ﬂﬁ ;

..maqu?ﬁm%%

Na/C H, OH

CH30N + 4(H)

~

| CH3-CH2NH2 :

(A) ﬁ-—sﬁmm

(B) FRA T

(C) SR TR awatﬁ ‘



'19. The correct structure »of (2R, 3S)

C,H,CH(CHg) CH(D)CH,D is :

 CH,
@ HC- —H
e i
CH,D
“CZH; |
®) H | | CH,
D
CH,D
C.H,
CH,D'
N | C.H, ,.
@ HC
D
CHZ’]-)
Zi—Chem.

19. (2R, 3S) CoH;CH(CH,) CH(D)CH,D

W R
C,H, |
A) HC —H.
CH,D a
o
® B +—on,
D
CHD
 om
© B———CH,
H
’cﬁzp
C:H,
(D) HC '
. B
- CH,D ~'

12

A



120, In which of the following molecules | 20. ft 3 ¥ P 3ro] Ft wer & n-gdvgly -

n-electron ‘density in ring is

' maximum ? 0,

Q)

-~ (B)

B) .

- (©)
(© |

- OCH,

® o

21-Chem. T .13



21

- CHzCH,0H

In the given reaction sequence :

1. KMnO /OH/A
2.H"

1.50Cl,
2,
2. NH, /A

(C) w111 be

(B) _Br,/KOH

VN Methylamme

22.

@ a

(V) O,N Q OH .

) M;Select, the correct answer from the

(B) Ethylamine

(C) Propylamine

(D) Acetamide
Arrange the given phenols in their | 99
decreasing order of acldlty

(D CgH,O0H

jgiven codes :_ ‘
A IV>TI>T>I
B) IV>II > IIl > I

© IV>II>I>I

@ IV>I>M>I

21-Chem.

— (A)

5(C)»

21. ﬂﬂéeﬂrﬁ:m

14

e s—
© 2.NH,/A

1. mnO /OH/A S(A)
2.H" ;

CH3CH20H

L.SOCL | ) B /Kol O

& %9 ¥ (O A :

(A) -t

(B) fra-

(C) Nfra-Teta

(D) Ve
ﬁﬁﬂﬁnﬁmaﬁmﬁmg
mﬁmaﬁuaaﬁﬁq

(I) CgH;OH

an FOH ,
. ,QZN OH |

ﬁﬁﬁmﬁﬁﬂﬁwm
‘(A)IV>III>I>II

B IVsI>II>1

C)IV>II>II>IT

) IV>I>IIsI



y

| 23. \z\Th_e 'gi\(én reaction is known as :

Aluminium tert.mry buhox:de
Acetone

(A) Kolbe reaction
tB) Tischenkb reactiOn

©) MPV reaction

(D) Oppeneur ox1dat10n R
24, A compound.'(Qng) reacts With
a_mx_nonicai AgNOj, to give a White |

- .precipitate and reaéts with excess of”

. : KMnO, solution to give
;"(_CHg)g CH-COOH. -
The compound is : |
m OH,= CH—-—CH:CH—CH3
R (B) (CH3)2CH—C_CH
(©) CHy(CHy),C=CH
(D) (CHy),C=C=CH,

- 91-Chem.

23.

2.

(© MPV s

(D)a?rqﬂha’fq'\cﬁw

ks zﬂﬁm (C5Hg) mﬁﬁmw fs«w

"wazﬁﬁw%ﬁmmmm@q .

ém%ammno4ﬁaawaﬁmﬁ1$um |

| 4 5l (CH§)2ACH—COOH m |

%I'ﬂ%ﬁ’lﬁﬁ%

| (A)~ éH2=CH+CiI=CH—cH5. .

C® (CH3)2CH—C-CH

.15

© CH3(CH2)2C_CH

I0) (,CH3)2C=-C=C;{2 |




25.

CH

26.

In the reaction sequence

| | (i) H,0"
s—CH~CH~C—CH, )4

o | Product
Thé product will be : ‘
A ?H | .
&) ¢ H,CH—CH,~COOH

(B) CgH5COOH, COOH-COOH,

" CHBrg

. . ‘ I } ‘_ . . . .
(C) . C,H,~C~CH,, CO,, CHBr,

. (D) Only CHBrg

In the réaction of p-chiorotoluene
with KNH, in liq. NHj, the major
product is : _

(A) o-Toluidine )

~(B) m-Toluidine

(C) p-Toluidine = -

(D) p-Chloroaniline

21-Chem.

16

| 25. fm= a'qﬁm.a%-a;q # R AW

(?) NaOBr

OH O :
(i) H,0

C.H,—CH—CH,—C—CH, m—>

?ﬂﬁm ;

‘OH

@) C¢H,—CH—CH,—COOH

(B) C¢Hz;COOH, COOH-COOH,

X CHBr3

- o
() CH,-C-CH,, CO,, CHBr,

(D) #a& CHBrg

26. pAAEIGE F F DR TS

a9 33 I X T mg@?ﬂﬁ |

(A o- e
(B) mzrqs’h
(C) p-'d@? o

D) pFNNRFRT -



- 27. {How many NMR signals would -be

- bbtained from{; the fqlloWing..

- 'ompound ?

28.

“®

- ©

. (A)

o

/ \

(A) 2
B3
© 1

D) 4

- The correct structure of saccharin is :

,co"\ .

BN

o 21—Chem. -

'soz'/_

217.

wéﬁ ?

I\

a
/\H

“(A) 2

28.

(A)

®3

<C5.1

4

ﬁwﬁ#aﬁnﬁm%

(B) _Y




. 29.

)]

30.

®)

.Complete the following reaction :

@)

° H . | "

(C) ‘

Which one is uséd as Plasticisers ?
(A) Phenol

(B) Cresol » |

(C) Tricresyl phosphate o

D) TfiphenYlamine

[

'21-Chem.

18

29,

30.

Prer sifuf = g0 W

CH,0H »-5}00°C o

@A)
®) [ rj

H
©
D)
,mm%mﬁmm,
w2
(A) ﬁ'ﬂ’fﬁ 3
®) fdte

(C) TEfFEEA WiEh
©) TTeRFTEET



-, (B). Knorr:quinoline Synthesis

(D) Skraup synthesis |

32

. Name the _,fqﬂdwing reaction : -

" the proéess‘: L

(A) H+ H > Hy

H, | ?ﬁon
~ CHOH
CH,OH

CHNO;
——
FeSO,/H,SO,

(A) Friedlander’s Synthesis

(®)) Doébner Miller’s ASynthe‘s‘iAs.

R 4

Maximum energy will be releas_ed in |

B) F+F o Fy
©O0+0-50, -

21-Chem. . L 19

C.H.NO,
- FeSO,/H,S0,

@A) e Eii
. .’(B),'#rx-ﬁajﬁ-r_ w@m
(C) T forem Wewww

D =

82, o S # afeman S SRi

(A)-H +.H—'>H2
B) F +F - F,

D) NL-;l- N -—>‘N2



33.

34.

35.

©) by =

Maximum covalent character is :

(A) KF
- (B) Na'F;"

(C) NagN

(D) NayO
Tﬁe stan,dard free éhergy_ ch/ange
AGY is related to equilibrium

constant &, is :

'(A) k, ="-RT In AG®

® k, = ()

AG®

RT

D) k, = " RT

The temperature of a system'.

. decreases in an............ e

21—Cheril’. . ‘

A) Adiabatic .compression

(B) Isothermal éXpansion

- (C) :Isotherm‘ai compressibn‘

D) /Adiabatic expansion

20

34,

35.

33, walfusw wewded A ¥

(A) KF

(By NaF -

(©) Na3N .

(D) Nay0 |
W%WWAGOWW
R by B ¥ s

(A) k, = -RT In AG®

B k= (ﬁ) ~

AG?

(C) &y, = BT

|

®) kp= *“RT o
R e 3 mﬁwmﬁ
(&) Tgre FfeT
(B) A FER

(0 W wder

(D) T mur



~86. Which of the following liquid pairs

- < shows a positive deviation from

317.

. 21-Chem.

Raoult’s law ?

(A) Water-Hydrochloric acid

(B) Benzerie-Methanol
(C) Water-Nitric acid

(D) None of the above

Cbnversion of HyS into colioidal

solution of sulphur is possible by the

following method :

(A) Oxidation

" (B) Reduction -

. (C) Neut‘r\alizat_ioh | _

(D) | .Hydrolysis . :

21.

36, PR HR P 55-gm m‘% fram

(A) - TR T

| (B) AR

37,

®) wwiw & 3 B

H,S 9 e 3 Feledt fewm §
fadn w3 fg w Shen

@) s

(B) srre

(€) TRAE



38. The. initial concentration for first

order reaction has been taken equal

to %\/I(_) aﬂ;er 500 seconds, the reactant

M
concentratlon has become —— The

200

velocity constant value will be :

(A ‘5- x 1073 sec‘1

39.

(B) 2.303 x 107° sec!.

(C) 2.203.x 1074 sec!
D) 4.606 x 10~3 sec™!

‘What is the pH of a 1 x 108 M

seIutiop of HC1 ?
) 8

®) 1

(©) 69

o 2.

21-Chen.

22

38. wew wife Y fufswar & forg wrfsw

39,

icen) —~M~ B a'{iat Fﬁ mﬁ% J 500

W@%mﬁwﬁw

— ﬁﬂtﬁ aaénﬁaﬂﬁwmw

200

Bm o ?

(A) 5 x 107 sec’?

(B) 2.303 x 1075 sec!

(C) 2.203 x 104 secl

(D) 4.606 x 1073 sec!

{

1 x 1078 M HCI faee 3t pH =1

v

@ s

(B) 1

©) 69

‘. ®) 2



40 ‘Which one of the_ following is | 40. f=1 # ¥ B\ eggEwE ¥ 2

' paran‘lagnevtic; ? .
S @A) CLo
(A) C1,0 '
_ (B) ClOé-
(B) Clo, o

£ oo
41. What ;wlre;'igh't.o.f,Hz atNT?cbuidbe | . ‘,NTP m_ W . ﬁ ﬁwﬂ . m :
cpntaiped m a veése} ti;a;t hqlds 48 | \'G'«ﬁﬁ 8 faqﬁ NTP ® (‘).2'%. 4.. 8 T
- .(A),‘-;'IS o w48 m
 <(_0) 0_'6v gm ©) _o‘.é 7

(D) 3.5 gm

‘(D) 35 7™

21-Chem. S 23



42.

43.

21—'-Chem.-

’ Coﬁdiensed-‘phase.rule equation ig
W F=C-P+2 |

(B F’,=‘cf-1,>'-fv1. |

(©) Ff:.C—'P +3

) F=P —C i1

' ’What is the oxidation state of Cr in',

CrOjg-?
(A) 10
B) &

<© 7

D6

.. Electrolytic conduction is due to the

movement of :
(A) Ions

(B) Elecﬁrons

(C) Atoms

(D) Iohs and eléctrbns.both

42,

43.

A F=C-P+2

"B F=C-P+1

©F=C-P+3 _'

D F=P-C+1
cmﬁﬁﬁmaﬁ awﬂmmemm
w7 |

(A) 10

S ®5

© 7

©) 6

L

" (A) s
(B) TR
()

K T T O



45; Joule-Thomgc}n _c‘qefﬁc_it__ant is giveti"' .

46. Heisenberg’s uncertainty principle

is :

(A)V. APx .
(B) APx.-
" (©) APx.

D) APx..

21-Chem.

46.

APx . Ax > —
®) x 2n

: APx . Ax>—" -

}'L .

©) APx.Ax >% |

(D) APx Ax i

_25 :



47.

48.

21-Chem.

If process is spontaneous : -

(A) AG = 0

3B) AG >0

© AG <0

D) AG = AH

Energy equivalent to one Erg, dne

Joule, one calorie are in the order

[0} R .

('A)'_ 1 Erg > 1 Joule > 1 cal:

(B) 1 Erg > 1 cal. > 1 Joule

O 1 cal. > 1 Joule > 1 Erg

(D) 1 Joule > 1 cal. > 1 Erg

26

47.

48.

I wwa @a: - yada &, @

(A AG =0

'v('B) AG>0
(C) AG < 0

(D) AG = AH

w o, T 9, T S @ W

A ™ ol > TF T > T B

(B) @'aﬁ>'@a‘§m>@qa

(© > T W > T e

D) T Y > TF FA > T ol



49.

50.

- L.

‘As a r_e‘sult‘j of B-déc,ayv N/P ratio

T3

(A) Decreasés :

(B) .IAncreaSes'. ,

(C) No change
(D) None of the above

The shape of XeOF, molecule is :

- (A) Square pyramidal

(B) Tﬁgonél bip'yramidal ‘

(C). Tetrahedral

(D) None of .the_, .gbove

The basic structure unit of silicate
 mineral is :
A Si

(B) sio;; |

- (C) slo3

® slo4

: 21fChem. ’

27

19, B SR % HON/P I B
"(A) m ?ﬁn %
- '(B) g %

| "(C) awﬁaﬁia

(D)aﬂéaﬁﬁﬁéwﬁ

501 XeOF, ¥t W %
.'(A) Eﬁﬁmﬁ?g ’
® frnia ﬁﬁtrﬁw:e'
: »(C) agﬁﬁq»-aaﬁ'q
;(D) sqviaa LA aﬁi aﬁ
51._'fafa$zaﬁaaﬁwwmw§
W Si
® Si0,
" © siog

(D) SiO



52. Artiﬂjcial rain is produced by seeding

53.

~ 21-Chem.

(B) AgNO,
(O Agl

(D) CuSO,

®) 2

D 4

clouds with :

(A) KI

In arranging the spheres in FCC
strﬁcture, how many octahedral

voids per sphere would be there ? -

W 1

© 3 .

2. b T g e T R v

53,

deR o @Ry 2

(A). KT

’ (B) AgNOg

(C) Agl

FCC s &g el @ sereen 3 R

L E

w1

28

®) 2

(C) 38~

(D) 4



.b4. Which one of the following‘crystglg_ 54. ﬁ'FI T ﬁ HiFw fhea lﬁao_d I &
' does noi,gxhibit _Frex?xklel‘_‘defe'cﬁ ? | g-gﬁ-m 7 /
@) Aghr IR (&) AgBr
® Agl SR B _Agél\,
© KBr - . (C) KBr
oms 1 | ™ 208
.“_5'5. -Hypﬁd;fza_ﬁ_on for Ty is | - s # s .
&) dsp® W dsp® o
: (B) ’sp?fd: L (B) .spad
- O V(IC). p°®
D) dsp? B (D) ;ispz
88 Mg~ e ¢ Bnery o Wy [ g g s o g,
Lt T’_he abové: equation deﬁheé 3 o | 3‘@‘*‘ W vﬁ:ﬂrﬁs‘a Tﬂﬁ’f %,
@) Electmpésitivity - | @ m |
' | (B). FirstiQnisgtion ‘energy ' . ; B (B) WFT A wﬁ

(O Blectronegativity | o) g

(D) Blectron aﬁi.nity”ii : _ (D)) 3@33[:; aigen ,

21-Chem, 29



- 57. Which one of the following is not

58,

paramagnetic ?
(A) Ce*3
(B) Pr*d

(C) Nb*3

(D) Lu*®
Which of the following c’ompounds.
amo;ig BN, Na20,. TéCl4, IBr; ZnH,

are most ionic and least ionic ? -

(A) TeCl,, ZnH,

(B) TeCl,, IBr

(C) Na,0, IBr

(D) BN, Na,0

' 21-Chem, _

-30

o7.

58.

%‘?'

(B) Pr*3"

(C) Nb*3

(15) Lu*3.

f= BN, NayO, TeCly, IBr, ZnH, &

f%'?-

(&) TeCly, ZnH,

®) TeCl, IBr

(©) NayO, IBr

(D) BN, Nay0



59.

The reduction of BeCly by LiH or

LiAlH, produces :: |

(A) BeH,

© Best

(D) V'None of «vthe_‘above o

60.. ‘When borax is héatéd with.“iNH_‘iCl, |

61.

21-Chem.

it forms :

(A) Boron nitﬁde

(B). Orthoboric acid

~ (C) Boron -
(D) Borazdle '

What is the co-ordmatlon number of
Ce in (NH4)2[Ce(NO3)6] ‘7 .

A) 4 -ﬁ-

B) 6 g -
: (C)- 12.

) 20

31

59

BeCly F1 LiH o LiAlH, 371

ammmﬁwm'@rm%

@) BeH, ;'

(B) BeyH

O Be3H2 - s

'm)mﬁ%aﬁiwﬁ

60. v @ F NH,Cl # e i

“’_(A) a’lﬂ??@s@

"(B) amﬁahﬁm T

- (C)znm

61.

) a’lrﬁhr-r s
(NH,)[Ce(NOy)l & Ce F1 STerdireT

W

®.6
© 12

‘© 20



62.

63.

64.

D)

Ethylene diamine triacetate is a :

(A) Tridentate ligand

" (®B) Monodentate ligand

(C) Bidentate ligand
(D) Pentadentate ligand -

Number of ienic, covalent and

| coordinate bonds respectively in-

‘NH,CI are :

A 1,31
B) 1,23
© 1,32

(D) 1,1, 3

The noble gas forming maximum ‘

n_uxﬁber of corhpounds is
(A) Ne

B) Kr -

© Xe

‘é\

Rn

21-Chem.
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62.

@) P e

- ® e e
(© fegw R

63.

64.

(D) W ferive

ST TS # T, TEEE

v_'%f%n STEEEAE S W e

T waw: .

A4 1,3,1

"® 1,23

© 1,8, 2

D 1,13

I T

(A) Ne

®r v

(C) Xe

- @) Rn



65.

‘Which 'catalvysti'i?s» qsed' in the

- manufacture of ﬁNO3 by ‘Ostwald

" process ?

.- 66,

&

(&) CuCly

‘(B) Bt gauze
(C) Iron

. ‘(D) In{zertéSe' -

Which of the following expression is

correct for D.ebye-Hu‘cke.l-:Or’rs‘ag‘er

equation ? -

(&) A=A,-(A+BAJNC

) Ay=A-(A+BANC

- © A=A6‘—(A—BA0)~[6-"'\;.

' 21-Chem.

®) ‘A0=A_>-iA-BAO:)\/AE

83

65, Shzes S & HNO, w3 #f el

e A A e o k2

(A) CuCly

o _(B)\ At |

| 6.

O R

(C) TFH -

B

%ﬁﬁ—m—aﬁm Sicau %ﬁm
1 (A)‘ A‘.=“A§4(A\+,BA0‘),\/E

B Ag=A-A+BANC -

© A=A, - (A-BANC

(D) /(;#A’—(A—BAO)JE o



67. Which of the following e;_:pressions

68.

21—Chem.'

. is correct for Schrodinger wave

equation ?

QLA 21 8’
: 82111 8n’m
= CE-Vy=0
(B) o W B v =
-y azw 8n’ m
-V 0
(C) w9y ( =

(D) All of the above
Which one of the following is Infra-

. red A(:vibratio-nal) Vactive ?

() H,

B) Ny
(C) Oy

1

34

67. ﬁmﬁmmmmﬁm

-68.

@

" (B)

mﬁaﬁﬁmw%

a2w+a‘*’w aws

W W w ey =0

3 v 8n’m
— ——(E- V) 0
o T

;'aw oy 8nm
. -V 0
(®)) axz a ) ( )\If

DO vow e

e d ¥ A o s (P

W ¥ 2
@H, o
B) N,

(© 0y

(D) CO,



69. Decreasing order of the dipole

70.

moment would be :
(A) HyO > NHy > NF; > BF,

(C) HyO > NFy > NH; > BF,

(D) BF3 > NH; > NF3 > Hy0
Which one of the following is correct

statement ?

(A) Two aldoses ‘having different_' ,

configuration at C, are termed
as Anomer

(B) Two aldoses’hlaving same

_configuration at C2 are termed

as Anomer

(C) Two aldoses Vh'avi’ng same

configuration at C, are termed

.~ as Anomer

(D) Two aldoses having different

éonﬁguration at Cy, are termed |

as Anomer -

21—Chem._

69.

70.

foy oyt F we g FW AW

(A) HyO > NHy > NF; > BF;

'(B) BFg > NF; > NH; > H,0

(C) HyO > NFy > NHy > BFg

(D) BFy > NHy > NFg > HyO -

'ﬁrﬁrﬁvﬁﬁwaww‘%? .

| () mam*cimﬂﬁﬁ?@
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(B) fort 2 A 3 G, Ty 7

(© 2 i & C; T 4 o

- W A, I TR P E
D) ﬁﬁﬁ%@v-%czmmﬁwm
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